“KONZERT IV”

(partitur)
Piece for 4 musicians, 1 Computer and 4 Speakers

Winfried Ritsch
23.November 1999 - May 16, 2000

Notes:

All sounds should be played not to loud. The phrases should be played in blocks, like you where just producing a sounds in a
studio.

Each phrase has its own tempo, which means that the musician play indepent his tempi. The piece is notated this way to make it
easier to play the phrases with different sounds. The time where a phrase starts can be taken from a timeline. The notes not always
(but mostly) correspondent to the timeline, (because of the notation becaus sometimes, if tempo is very high, the notes doesnt fit
in). There are no synchronisation points between the instruments except the stop watch.

The cents with the notes should indicate, that the pitch should be not excat the note but a little higher or lower. If some of the
phrases are not playable they should be made with nearly the same sounds, even changing the notes in another octave or a quint
higher or a quart lower.

The player has a stop watch which is started synchron to with all others at time 0°00”.
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